These can save time when doing homework print then cut and paste into your homework, or cut and
paste and do the work in word.

Banzhaf method

if the number of players are no more than 5 you must write all the coalitions

If there are 3 players there are 23 — 1 = 7 coalitions

{Pl} {Pll PZ} {Pll PZI P3}
{PZ} {Pll P3}
{Ps} {P2, P3}

If there are 4 players there are 2* — 1 = 15coalitions

{Pl} {Pll PZ} {Pll PZI P3} {Pll P2/ P3/ P4}
{PZ} {Pll P3} {Pll PZI P4}
{P3} {P1, P4} {P1, P3, P4}
{P4} {P2, P3} {P2, P3, P4}
{PZI P4}
{P3I P4}

If there are 5 players there are 2° -1 =31

{P1} {P1, P2} {P1, P2, P3} {P1, P2, P3, P4}  {Py, P2, P3, P4, Ps}
{PZ} {Pll P3} {Pll PZI P4} {Pll PZI P3I P5}
{P3} {Pll P4} {Pll PZI P5} {Pll PZI P4I P5}
{P4} {Pll P5} {Pll P3I P4} {Pll P3I P4I P5}
{Ps} {P2, P3} {Pi1, P3, Ps} {P2, P3, P4, Ps}
{P2, P4} {P1, P4, Ps}
{PZI P5} {PZI P3I P4}
{P3I P4} {PZI P3I P5}
{Ps3, Ps} {P2, P4, Ps}
{P4, Ps} {P3, P4, Ps}

Shapley-Shubik method

If there are 3 players

These are the list of coalition 3! = 6 coalitions

<Py, P2, P3>
<P1/ P3/ P2>

<P, Py, P3>
<P2/ P3/ P1>

<P3, Py, P>
<P3, Py, P1>

If there are 4 players
These are the list of coalitions 4! =24 coalitions

<Py, P2, P3, P4
<Py, P2, P4, P3
<Py, P3, P2, P4
<Pi, P3, P4, P
<Pi, Ps, P2, P3
<Pi, P4, P3, P

<Py, P1, P3, P4
<P, P1, P4, P3
<Py, P3, Py, P4
<Py, P3, P4, Py
<P, P4, Py, P3
<Py, P4, P3, P;

<P3, P1, P2, P4
<P3, P1, P4, P
<P3, P2, P1, P4
<P3, P2, P4, Py
<P3, P4, Py, P2
<P3, P4, P2, Py

<P4, P1, P2, P3
<P4, P1, P3, P
<P4, P2, Py, P3
<P4, P2, P3, Py
<Pg4, P3, Py, P2
<P4, P3, P2, Py
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